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A5 9] Zeol= (BRel)x2+(2Hel) ,
(Tx4)x2+ {(T+4+7+4)x11}
= 28 X 2+ 242 = 56 + 242 = 298( cm?)




22 3549 gH=ol HE o]f5te] HSHA Q] AHo|E Lot=

= 45
B [ ]9t Solg gore 48 Aet|E Ao,

LI
[V}

v VvV v Vv
0x
i

0x
n

= 92.cm?

2 B e A2 gtEolng Ado|=2 18t o) ufZ: 1 x| ¢k
L A We] Holo] gof 28 E 5t Zylo]E 3t 4 %Aqq




- -3em.
K 0
E 2cm i
ﬂ
@ 3.74cm? @ Tem?2 (@)9.14(1112
@ 12.42cm? ® 18.56cm?

B

(8] Wol)=(20] 2emd ¥HLS] Wol)xa+ (JAIZHE 9]
Hol)

1
:1x1x3.14x§x2+3><2

=3.14+6 = 9.14(cm?)
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27} 1 20000 4 20000 X 0.2 = 24000 (¥)
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05 92 T3] )= 200 x 0.3 = 60 (%)
A7) g2 T3 S Z4+)= 200 - 30 - 60 = 110 (%)
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60000 x 9( %) = 60000 x 0.09 = 5400()




@2] Hol= (5x 5 x 3.14) x % = 39.25(cm?)
@9] Hol= (3x3x3.14) x ; = 14.13(cm?)

(@] Yol)=39.25 - 14.13 = 25.12(cm?)

@9 FtA & : (FEAE)x(§tA]5)x3.14 x % = 25.12(cm?)
(FEA] )% (T2 5)x1.57 = 25.12
(Bt F)x (FFA]&)= 25.12 + 1.57
(SE2 )% (§FA]8)= 16
(Ft2)5)= 4(cm
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[ ]x2x3.14=87.92
[ ]x6.28 =87.92

[ ]=87.92+6.28

D = 14(cm)

215 1 14x2 = 28(cm)
O HAE O
OXxOx3.14 =706.5
OxQ=1706.5+3.14
OxO =225

O =15(cm)

Z]5 1 15%x 2 = 30(cm)
30 — 28 = 30( cm)
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